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QUESTION 1

Hostl and host2 are connected to an EVPN signaled VXLAN overlay, and must have Layer 3 connectivity. The VNI and
VLAN assignments are shown in the exhibit.
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VNI 5100 VNI 5200
VLAN100 VLAN200
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10.1.1.1/24 10.1.2.1/24

In this scenario, which two statements are true? (Choose two.) A. The ESI assigned to the hostl link will be different
from the ESI assigned to the host2 link.

B. The VNI assigned to the hostl link must be the same as the VNI assigned to the host2 link.
C. A Layer 3 gateway can be configured on the spine devices.
D. A Layer 3 gateway can be configured on the leaf devices.

Correct Answer: CD
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QUESTION 2

You are configuring VXLAN, and you must ensure that all switches for the multicast groups advertise their existence and
learn about other VTEPs.

In this scenario, which protocol will accomplish this task?
A. OSPF

B. BGP

C. EVPN

D. PIM

Correct Answer: C

QUESTION 3

What are three functions supported by the Contrail Command user interface? (Choose three.)
A. enabling VM-to-BMS bridging

B. onboarding of an IP Fabric

C. configuring management domains

D. integrated syslog collector

E. creating virtual networks

Correct Answer: CDE

QUESTION 4

You have configured a new MC-LAG connection to a host. After committing the configuration, the MC-LAG link is not
functioning properly.
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{master:0} [edit interfaces ael] {master:0} [edit interfaces ael]
user@gfxl# show user@gfx2# show
aggregated-ether-options { aggregated-ether-options {
lacp | lacp {
active; active;
system—-id 01:01:01:01:01:01; system—-id 01:01:01:01:01:01;
admin-key 1; admin-key 1;
} }
mc-ae { mc-ae |
mc-ae-id 0; mc-ae-id 1;
chassis-id 0; chassis-id 1;
mode active-active; mode active-active;
status-control active: status-control standby;
} 1
} }
unit 0 { unit 0 {
family ethernet-switching { family ethernet-switching {
vlan { vlan {
members v15; members v15;

} }

Referring to the exhibit, how would you solve this problem?

A. Change the chassis-id on gfx1 to 1.

B. Configure a system-id on gfx1 that is different from the system-id on gfx2.
C. Configure the status-control on gfx2 to active.

D. Change the mc-ae-id on gfx1 to 1.

Correct Answer: D

QUESTION 5

What happens when a packet is encapsulated by a VXLAN before being placed in the overlay?
A. The QoS markings are placed in the VXLAN header.

B. The VLAN-ID is placed in the VXLAN header.

C. A VNI that maps to the VLAN-ID is placed in the VXLAN header.

D. The TTL is decremented by two and placed in the VXLAN header.

Correct Answer: C
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